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1- Determine the maximum deflection between the supports A and B. El is constant. Use the method of
integration.
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Ref: Hibbeler, R.C. Structural Analysis, 8™ ed.

2- Use the moment-area method to determine the slopes and deflections at points B and C of the beam
shown.
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E = constant = 70 GPa
I =500 (10% mm*

Ref: A. Kassimali, structural Analysis,5th Ed.2014

3- Determine the slope and displacement at C. El is constant. use the conjugate-beam method.
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Ref: Hibbeler, R.C. Structural Analysis, 9™ ed. 2017

4- Determine the slope and displacement at C. El is constant. Use the moment-area theorems.
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Ref: Hibbeler, R.C. Structural Analysis, 8™ ed.
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